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Irrstrur::t'o ns:

1. Tltere are two sections in this Paper. Section - A & Section - B. Section A is of

4() marks and Section - B is of 60 marks.

Z. Ir Section A, there are 40 Ir/ultlple choice questions and all are corlrpulsory.

Ei,rch question is of 01 tt/arks.

3. lr section B, there are 06 descriptive questions. All questions are r-ompulsoryr.

4. Ivobile / Calculator etc. are not allowed in Examination Hall otherwise

c;rndidate will be debarred from exam.

5. Except answer, nothing should be written in answer sheet.
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PART - A Objective() 1) At present, who is appointed as a c
A) shashikanr Das u) R,;1 ,;;,'d;:;1,,,, ?1,ffi;:,:l'r "Li,.:,j:fy 

v"rr,ur,.
Q 2 Who i: thc lirSt lrrd,;n rn a^ i^

A) sunita *,,,,. "to'on 
to go in space?

)ms B) ftakesh Sharma C) Juhr (,hau;la i)) l(alpana Oraivl.r
Q 3) Which gas rnostly present in Atmosphere?

A) Nitroqen B) oxygen 
C) Flydroqcn D) ozone

Q a) Which is thr: national game of lndia?
A) Cricket B) Hockey C) Footbali D) i3adminton

Q S) nt present, who is the,, chairrlan of St tJl?
A) i\4aclhavi puri fJuch B) Iuhin Kant I)anclcy (') \ay lyaqt D) Nonr: of tlrcsc

Q. 6) panama canal connects which two ocean ?

A) lndian Ocean & pacific Ocean
C)Arabian sea & lndian O.ern

B) Atlantic Ocean & pacific Ocean
D) None of these

Q. 7) Which battery ts mosily used in 2
A) Le.ad Acid Battery
C) Aiuminium Battery

Q B) nt present, who is thc chref yustice Su
A) Jrstrce B R Gawai 13) jusrice ,.::::'.'.:"trrt 

of lndia?
nyeev Khanna C_) Jrrsticr: D. y (,handracht.rcj

lvhr:e/r:r /,1 rvhr:cler ele ctric veriticle?
B) Nicklc CacJmium Battory
D) lithrum lon 13attcry

D) None of these
Q 9) What is Nari Shakti Vandan Act 2023?

A) To Hail Women,
B) 1o Lnhance the opportunity of r:r.,ployrl.r1 to the Wor.,e .
;] i::i:illreservcd 

forwonrer, in all ttrc rok sabha and VicJhan Sabrra arr .ver rhe,.rrr..

Q 10) llow many states and Union le rritories are in lndralA) 2B State, 05 t_tnion [errilorics
c) 28 Sta1e,0B l.lnion lerrrtorics 

1J) l0 statc, 08 l.lnion lorritorics
D) 2/ Statc, O6 Union krrritorics

Q. 11) lnternational Women,s Day is celebrate
A) oB ApriJ B) ts N/archr

don.. ?

C) iB April D) oB N/arch
Q 12) Pongal testrval rs celr:bratcd in which state in lndia?A) Andhra pradr:sh 

B) Oclisha C) Iamil Nacjrr D) Kera/
Q. 13) Which is the most cotton producing state in lndia?A) N/aharashtra B) Gujrat O ondn,.u o,laurn D) tr,4adhya pradesh



Q. '15) The Fighter planes are manufactured by which Indian Govt company?
A) Bharat Electronic Ltd. B) Bharat Heavy Eiectrical Ltd.

C) Hindustan Aeronautics Ltd. D) None of these.

Q. i6)Which state in lndia has rhe highest GDp?

A) tVaharashtra B) Tamil Nadu C) Ufiar pradesh D) Gujrat

Q. 14) Gir National Park is famous for.......?

A) Tiger B) Bear C) Asian Lion

Q. 17) At present, whrch state in lndia produces lron ore the rnost?

A) West Bengal B) Karnataka C) Jharkhand

Q. lB)Who is the constitutional head of tndia?

A) Chief .Justice of lndia B) prime lVinister

Q. 19) How many zones are in lndian Railways?

A)16 B)17 C)18 D)19

Q. 20) Which two countries are separated by the palk Water strait?

D) Elephant

D) Odisha

C) President D) Lok Sabha Speaker

$

Q. 23) ln which oty the Kumbh lvlela was organ

A) Lucknow B) Harrdwar C) Ayodhya

Q.24)At present, who is the charrman and cEo of lndian Rairways Board?

A) Ashwin Varshnav B) V K Tripathi C) .Jaya Verma

A) India and Pal<istan

C) Bharat and Bangladesh

Q. 21) Which of the followings protect t
A) Ozone gas layer B) Carbon

Q. 25) What is the full form of UPI ?

A) Unified Payment Interface

C) Unitary Payment Transaction

Q. 26) Which is the Iongest River in lndia?

A) Narmada River B) Tapti River

B) lndia a Shri Lanka

B) United Process lnterface

D) None of these.

iolet Rays?

gen gas l-ayer D) None of these

D) London

D) Prayag Ra.1

D) Satish KL-rrrar

Q. 27) Which country shares the longest boundary with lndia?
A) China B) pakistan C) Bangladesh

C) Ganga River D) Brarnhaputra River

D) None of thesc

Q. 28) In lndia, the Dronacharya Award is given for which of the followinqs?
A) For Cricket B) For Hockey C) For Excellent training in sports D) For Football

Q 22) Whcre is the headquarters of United Nations ?

A) New Yorl< B) Washington



Q.30)Approximately, How much percentage is the lndia's population of the Worlcj's total population ?

A) 12% B) 17% c) 21% D)7 %

Q' 31) Find out the Adjective in the following sentence. "suresh lives in a beautiful house,,
A) Lives B) Suresh C) House D) Beautiful

Q. 29) Sardar Sarovar project is built on which rrver ?

A) Narmada River B) Tapti River C) Satlaj River

Q. 32) Find out the Noun in the following sentence

A) Going B) Headmaster C) For

D) Kaveri River

"Headmaster is going for a vacation"
D) is

Q. 33) N/ake negative sentence of the following senrcnce
"Suresh knows him very well"
A) Suresh is not know him very well B) Suresh do not knows him very well
C) Suresh does not know him very well D) Not Suresh know him very well.

() 34) Fill the approprrate Article in the following sentencc
"He livcs in -, - - -Canada"

A) a B) an C) the D) No Artrcle

Q. 35) Find out the Pronoun in the follo
"Shyam is my best friend and he

A) Best Friend B) Classmate

Q. 36) lf food prices go up by tA %, bv his consumption so as not
to increase his expenditure?

A) 100i11 % B) 10% None of thesc

Q. 37) A man sells an article at profit of 2A% for Rs 840 lf he wishes to make profit of only 5,/,,
what should be its selling price?

A) 840 B) 79s c) 73s D) B0s

Q' 3B) The milk and water in a mixture is in ratio 7:5. When 1S litters of water is added to it, the
ratio of milk and water in the new mixture becomes 7.8. The total quantity of water in the
new mixture is?

A) 35 Litters C) 60 Litters D) 96 Litters

Q 39) 3 years ago, the age of father was B times the age of his son Presently the father's age is 5''times that of his son. Find the present age of Son?

A) 5 Years B) 7 year-s C) B years D) 6 years

Q 40) A field is 30 meter long and 25 meter broad. lt has a 2 meter wide pavement all around it on
its inside. Find the area of pavement?

A) 206 Ni Sq B) 210 t/ Sq C) 196 N/ Sq D) 204 N/ Sq

B) 40 Litters
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pART (B) Descriptive

Q. 1) (A) Explain the working principar of Singre phase rransfor-mer (5 Marks)

(B) A 25 KVA transformer has 500 turns in primary winding and 50 turns in secondary winding
Primary winding is fed by 3000 v, 50 Hz supply. what will be the secondary current ot
transformer (5 Marks)

Q' 2) (A) Explain the working principal of D C motor with the help of diagram. (5 Marl<s)
(B) Explain armature torque / armature current characteristics of DC series motor. whv DC

series motors are widely used for traction works. (5 Marks)

a.3) (A) Explain the Kirchoff's Junction Rure & N/esh Rure. (5 Marks)

(B) An AC circuit has 20 ohms resistance and a coil with inductive reactance 62 84 ohm and a

capacitorwhose capacitive reactance is 32 ohm are connected in series combination fed by
220 v 50 Hz Suppry. Find the power factor of the circuit. (5 Marr<s)

Q' 4) (A) Explain the classification of insulating material on the basis of temperature
with the examples. (5 Marks)

(B) Whycan.not a Single phase motor be a self start? Explain the methods which makes a

single phase motor to a self start motor. (5 Marks)

Q.5) Explain the working principar n-p-n transistorwith help of diagram. (10 Marks)

Q- 6) Write a note on Energy Conservation (10 Marl<s)

OR

an essay on "lndian Railways, The lifeline of Nation's Economy,,(10 Marks)


